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General Instructions :
Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(i)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(i1i) This Question paper contains 20 Multiple Choice type questions. Each
question carries 1 mark.

(iv) This Question paper contains 4 Short Answer Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

(v) This Question paper contains 6 Short Answer Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This Question paper contains 4 Long Answer type questions. Each
question carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, NOTE that a separate question has been prouvided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix) There ts no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A

(Macro Economics)

1. From the set of terms given in Column-I and Column-II, choose the

correct pair : 1
Column-I Column-II
(a) Non-tax Revenue (1) Goods and Services Tax
(b) Indirect Tax (1) Free-rider
(¢) Capital expenditure (iii) Borrowings
(d) Private goods (iv)  Rivalrous in nature
Options :
A @-0 B) () — a1
©) (o) - (id) D) @) —-@Gv)
58/1/2 ~ 3|Page Eﬁ,ﬁ P.T.O.
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2. afe s TP T 600 FS 1 7T AT HLT & q1 T 450 U HI HISA AT Ll 8, al
MY FAIRGIEBIGIL_ HUSH &7 | 1
(A) 150, GTeT B) 150, AR
(C) 1,050, =TT D) 1,050, TRy

3. aTiUrTSeh Sehi o Hed H, Fefifga A a P A e g 8 2 1

(Tt forehe ST == L 1)
@) sl forg ST Tt B ¢ |
AD) o FITaEd H 91E golh 8 7 |
(II1) o A a1 H THT SfhR Hd & |
AV) o AR fstd seh ohl 3T & STHT TR i & |

farepey :
A) (@D, A= 11D B) I (1)
© Oadn M) OHIAV)

4. HE SN, 3Ed 399 TG (APC) 1 45 0.8 B 791 TE 3T T 4,000 FUE 7, O
EECEIR HUS FT | (Tt forhea g frarm T <6t gfid =t 1) 1
ICEI
(A) 100 B) 200
(C) 500 D) 800

5. TfeRaa wemi-31fiepem (A) @ ®rOT (R) o1 31eaaq L | = feu e foehedt @ o g&

Torehed 1 T L 1
IR (A) : T SE o TEU &, FFehT IUI ST g amgfeeh €9 | T
ST g |
%R (R) : TTeT e TEqU Sfewhd Ud JaggTcsh Yehfd 6 21 & |
faweg -
(A) 3R (A) 9 BT (R) THT dT & qUT SR (R), 3THAT (A) 6l Tl =
2l

B) IfH (A) T FHRO (R) THI T &, bt HRU (R), 31fped (A) St T&
ST T8I LT 3 |

(C) R (A) Hcd B, b 1T (R) FHA 2 |

(D) AR (A) 3G 7, A1 HROT (R) TA R |
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If a country exports goods worth of ¥ 600 crores and imports goods worth
of ¥ 450 crores, the value of Balance of Trade of the country would be
of ¥ crores. 1
(A) deficit, 150 (B) surplus, 150
(C) deficit, 1,050 (D) surplus, 1,050

In the context of the Commercial Banks, which of the following
statements are correct ? (Choose the correct option) 1
(I) Deposits received are liabilities for Commercial Banks.

(IT) They are creator of credit in the economy.

(IIT) They accept deposits from general public.

(IV) They accept deposits on behalf of Reserve Bank of India.

Options :

A) (D, dI) and (I1IT) (B) (I) and (III)

(C) (@ and () D) @ and AV)

Suppose, the value of Average Propensity to Consume (APC) is 0.8 and
National Income is ¥ 4,000 crores, the value of saving would be ¥

crores. (Choose the correct option to fill up the blank) 1
Options :

(A) 100 @) 200

(C) 500 (D) 800

Read the following statements : Assertion (A) and Reason (R). Choose the

correct option from those given below : 1

Assertion (A) : Public goods are those goods that are collectively

consumed by the public.

Reason (R): Public goods are excludable and rivalrous in nature.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

58/1/2 ~ 5|Page Eﬁ,ﬁ P.T.O.
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6. TH i, foreft sreferawen &1 =@ 9% T 50 HUS & FUMHS Tod W Y
(intercept) ST & | JTefTw H, 3T H ghg T 20% S=d o &9 H @I a1 ¢ |

I TeH o 3Tedieh H, Fere1 ok (K) o Gedt <h1 Te=i b | 1
fereheq

A 2 B) 5

(©) 10 D) (o) 3

7. “SM (Th BE) J 3T hicis ol HiF & f1g 2 80,000 =1 =01 foran 2 | 98 S1aeh 8H
% B HIE 91 YT YoM TRH I <l ASHT §41 T 8, 8 a8 10 a9 it safy §

gehra |”

SRITH eI o TR 9T g7 o fCs s 1 uga ot | @& g d=RAR) 1
forpe
Q) fafrrr w1 mem (B) Wd <l gh1E
(C) =i YT <1 A (D) T T
8. frmfcrRad swemi 1 eamyEe 31eE W 1

HUT 1 : et fordt fafe o gomeft fr o T fafmr et yorett <61 v Tame 2 |
HYT 2 : et ford) fafm ot yomeft =51 ‘grEfee wonelt S Ea H ff TS R |
few e et % 3mreties ®, fferfaa O @ wE fashew 1 wmm Hife

(A) HF 1T IR FHYF 2 IR |

(B) U 1 IHAZINHUT2THR |

(C) + 1323 g2 |

(D) HYT 13N 2 HI A S |

9.  hicH-1 9 Hictd-11 9 €t 715 AT § | T I T =3 HIfT : 1
HieH-1 HieH-11
(2) HUH I () IgEE UIE
(b) STEIAdT A A () @™
(¢ Tufsmsm (i) e g wed
[ETRIR: I Gl
(d)  HHTIET BT GIATEST (iv) Yt s
forepey -
A @-@ B) () — (i)
©) (o) — (i) D) @ -@Gv)
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Suppose, the saving curve of an economy makes an intercept at a negative
value of ¥ 50 crores. In the economy, 20% of an increase in income is

saved.

In the light of above context, identify the value of investment multiplier (K). 1
Options :

A 2 B) 5

) 10 (D) o (infinite)

7. “Irfaan (a student) borrows ¥ 80,000 to finance his college fee. He plans to
begin repaying the loan six months after his graduation, making
payments over a span of ten years.”

Based on above text, identify the indicated function of money.
(Choose the correct option) 1
Options :
(A) Medium of Exchange (B) Unit of Account
(C) Standard of Deferred Payments (D) Store of Value

8. Read the following statements carefully : 1

Statement-1 : Managed floating exchange rate system 1is an
amalgamation of fixed and flexible exchange rate system.

Statement-2 : Managed floating exchange rate system is also known as
‘hybrid system’.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

9.  From the items given in Column-I and Column-II, choose the correct pair. 1
Column-I Column-II
(a) Income from Property @) Old age pension
(b) Income from Entrepreneurship (i1) Profit
(¢) Mixed Income (ii1)) Rent free accommodation
from an employer
(d) Compensation of Employees (iv)  Interest from capital
Options :
A @-0 B) () -G
(©) (c) — (i) D) (@) -Gav)
58/1/2 ~ 7|Page Eﬁ,ﬂ P.T.O.
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10. M HqeH o 9Te] WA oiFed & Ted 1, frafefiad o & sroey %o 1 vgam &1 : 1
(& foremed =1 = )
forepea :
(A) 3Tt 3T Fanati & faia o shise wei & &9 o gl fohar Jar 2 |
(B) w3l 3R JaTaAl o AT bl Sfee wei o w9 H g R ST 2 |
(C) |t gEdTaRoT YT fere el & &9 8 oot fpu 9 |
(D) @t gEarawor grfeEt Sfere 7el & &9 H oot I S # |

11. “HR A ¢ < fafi=r wrll 8 wiea w1 Mieafed e & foe ‘3rges yra’ iR sy
fepem o 17
ITH JTIH o W Toeeht gg1 Yer qeim Wiam Tger T de arel J9mei i foeqrw &

Kigulicnicad 3
12. (a) “g%m™ % 9H T fofwio gigen 8, S&T Argshifed i ST Sl 9 THIEHH
Tiga soiarel=eh U o IcaTe | fohart ST & 17
ST T 8 Ug=H i foh, I8 HUA Tearad! a3t o1 Tgiia i g srean faw
T3 T | 3T I THL H AT HRO | 3
AT
(b) HTEH ANTA W G Hed Ira (NVA) S He =l TURT L : 3
. e afyr
R =g 1)
Q) | 9icETer ey 3,740
(i) | W= (unsold stock) d Q’F@ 600
(i) | fershy 10,625
(iv) | = 9T 1 T 2,625
(v) | Tmf et o 3uvm 500
(vi) | 39aH 400
(vil) | oTcaed 1,200
13. ‘a9 2023-24 % foTT %5 TR o TThINH forartor § Iehi W 3UCH Ush Hewaqul Teeh AT |’
T FHR S <hl Tehfd I IHeh 394 chl TgaH &, | 4

14. (a) U JTHAIH; C=200+0.75Y (V& C =TI S, AN Y =TEA 3 8) 4
faw=em=34,000 € |
Fraferfaa i o Rt
(i) 3T I HeH T
(i) 3T % e TR 9T Het TR -
AU
(b) TcATIATT s o JeaTterd et § 31feres g <l g A aaes aa hr @ st | 4
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10. In the context of Current Account transactions of Balance of Payment,
identify the incorrect statement from the following : 1

(Choose the correct option)

Options :

(A) Export of goods and services are recorded as credit items.
(B) Import of goods and services are recorded as debit items.
(C) All transfer payments are recorded as debit items.

(D) All transfer receipts are recorded as debit items.

11. “The Government had launched Incredible India Campaign to promote
tourism in various parts of the country.”
Elaborate the impact of this campaign on foreign exchange reserves and
Balance of Payment of India. 3

12. (a)

(b)

“Saksham owns a manufacturing facility where microchips are
utilized in the production of electronic devices, including computers
and smartphones.”

From the above text, identify whether the given statement refers to
an intermediate goods or final goods. Give valid reason in support of

your answer. 3
OR
Calculate the value of Net Value Added at Factor Cost (NVAg() : 3
S. No. Particulars Amount
(In ¥ crore)

(1) Operating Surplus 3,740
(11) Increase in unsold stock 600
(111) | Sales 10,625
(1v) | Purchase of raw materials 2,625
v) Consumption of fixed capital 500
(vi) | Subsidies 400
(vii) | Indirect taxes 1,200

13. “A significant proportion of subsidies on fertilizer was a key component of
the fiscal statement of the Central Government for year 2023-24.”
Identify the nature of government expenditure and its objective. 4

14. (a)

In an economy ; C =200 + 0.75 Y (where C is consumption expenditure

and Y is National Income). Investment expenditure is ¥ 4,000 Crore. 4
Calculate the following :

(1) Equilibrium level of income.

(i1) Total consumption expenditure at equilibrium income level.

OR
(b) Explain the adjustment mechanism in case ex-ante savings are
greater than ex-ante investments. 4
58/1/2
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15. AW ofifor, Tt sreferasen o wrerfies s 2 500 7, afe smfdd srgam 25% 8 | Sfh
JoTTeRt gRT G et ST TRRIT a1 el TR (M) 1 ITHH T | 4

16. T=feriaa me w1 emgEE STereE i

U W 9 IUARET At o Tt 7 et fh, SRR 7 W agan i G (retail)
a1 fIfa e o fore forra ot & o8 wfsha weq 331U 8 | 321 a1 fop, TR @
A Y Y 31k gfg @ wwsian feru form gerehifa i frior & W 7 | Fee 2023 §
U HEEHIfd 5.55% o A HTE & I=aH &R R U959 T8, S foh @rer qererf 61 sedt
STl o HRUT g | 3R 2023 H HEhifer # firrae aweft oft, 91« 918 6.83% W ugd 18
ot | Waﬁ:«)ﬁﬁ ek (wholesale) 9 gl (retail) wwa@%ﬂmﬁr@ﬁﬁg
g THR A 140 ¢ g1 T g T fop & |

TR 7 g, 22 a1ad, N-amaHdt TW%he draet, W 371 g @re gererf & i @«
it & fea & | e STl 1 SieEnfed w6 fore aen ge gfg i Frba e s
oI TR 3 fefeter & gote W 31Td Yook ot vu o feam 2 |

I9UH T o G M oh 39N 9 fFeferfiga gedi & 3w e

(a) TR GRI TTa 9¢ gt Tt Shesi <t wen srard | 1
(b) TR MY T MewTfed H d geoi H wH A o foTe TR gra 31w e femeell &
Yfsha IUT 1 Jeoid@ ht | 2
(c) HETehIf i Fafa e o fore srah foneht weh Hifgieh Sumar shi e ki | 3
17. (a) () 3 fafer gro Uf g o1 3ATehe d THY 39S AW 1ol fheal al
T <hl ST | 3
(i) “3I=F Fhel TNT] IS (GDP) 1 37 Tea rferaee § awgai 1 ufd afh
Ff-IuAsIaT BT B 17 3
T HY I 38 < b AN oh HeATU o YAhh ® &9 H GHT el
T A |
AT
(b) (1) YT SCTEI G, Heh T AUT FEATAOT 37 T 37 TIL h, | 3
(i) U ™ (NNPp.) 1 FIHE 0 61 311 forfer o S1gam A < weehi
T AT R | 3
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15. Suppose in an economy, primary deposits are T 500, if the Reserve Ratio is
25%. Estimate the total deposits created and the total lending by the
banking system. 4

16. Read the following text carefully :

Union Food and Consumer Affairs Minister said that the Central
Government has taken many proactive steps in the past few years to
control retail prices of food items. He said that the government aims to
keep inflation under control without compromising the country’s economic
growth. Retail inflation inched up to a three-month high of 5.55% in
November 2023 driven by higher food prices. Inflation has been declining
since August 2023, when it touched 6.83%. 140 new price monitoring
centres had been set up by the Central Government to keep a close watch
on wholesale and retail prices of essential commodities.

The Government has banned the export of many food items like wheat, broken
rice, non-basmati white rice, onions etc. It has also reduced import duties on
edible oils and pulses to boost domestic supply and control price rise.

On the basis of the given text and common understanding, answer the
following questions :

(a) Mention the number of new price monitoring centres set up by

government. 1
(b) State any two proactive measures taken by government to boost

domestic supply and reduction in prices. 2
(c) Explain any one monetary measure used to control inflation. 3

17. (a) (1) Explain any two precautions to be adopted while estimating
National income by Income method. 3

(11) “Higher Gross Domestic Product (GDP) always means higher
per capita availability of goods in the economy.” 3

Defend or refute the given statement as the index of welfare of
the people of that country.
OR

(b) (1) Distinguish between factor income and transfer income with
suitable examples. 3

(11) Explain the components of ‘Profit’ as per Income Method of
estimating National Income (NNPg(). 3

58/1/2 ~ 11|Page [ P.T.O.
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g - g
i 3rffes faem@)
18. WA FfeTiaa # ¢ forw ariter /s STiier wg 1 vew T8 & 2 1
(A) fs=g (BRICS) (B) ¥ (SAARC)
(C) G-20 D) G-7

19. Tr=ferfaa semi-amfirpem (A) @ &R (R) 1 eamgdes 31899 e | i fou e feepeat
T T T forehed o1 == i 1
Fftpem (A) :  Ha Toft Trwfor snifdies wifefafert 9 e 6 vyrfier o & gfg s
2 T 3Tiien feren@ sl Yicanfed AT ® |
&R (R) : arfierdt ot fereft Ty <t Scated gk o o st & ufowa
Tefilq w2 |
forepeq -
(A) AR (A) g HRUT (R) THI TcF & aUT SR (R), AR (A) o T&t =3
2
B) IfHH (A) T FHRO (R) THI T &, ifehd HRU (R), 3Tfped (A) &t T&
ST 78] T2 |
(C) 3TFHYA (A) T B, AT Rl (R) I R |
(D) 3FHUT (A) 3T B, AT HROT (R) T R |
20. hier-1 4 fou T Frferiaa ugh o1 shierm-11 | feu e 319 9 firers =i 1
HieH-1 HicH-11
(a) = forhre Hehdeh (i) I I A

(b) SRR Fehdeh () Haures TRe

() Tormy amfefens &= (i) 3Ffafcs aTfeens Tiatafet = gom
(d) e Tl (iv) amfee s
forpea
A) (-0 B) (b) - i)
(©) (o) — (i) D) (@) - @)
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SECTION -B
(Indian Economic Development)

18. India is NOT a member of which of the following regional/global economic

grouping ? 1
(A) BRICS (B) SAARC
© G-20 D) G-7

19. Read the following statements carefully : Assertion (A) and Reason (R).
Choose the correct option from those given below : 1
Assertion (A) : Human capital formation increases the rate of
participation of population to economic activities and leads to
economic growth.

Reason (R) : Rate of participation of people refers to the percentage of
people engaged in production process of a country.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

20. From the following terms given in Column-I, match the correct pair of
meaning given in Column-II : 1
Column-I Column-II
(a) Human Development Indicator (1) Rule of Law
(b) Demographic Indicator (11) Constitutional Protection
(¢) Special Economic Zone (11i) Generation of additional

economic activities

(d) Commune System (1v) Collective industrialisation
Options :
A @-@0 B) () -G
©) (o) — (i) D) @) -@Gv)
58/1/2 ~ 13|Page Eﬁ,ﬂ P.T.O.
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21. fr=ferRed foa w1 eamgee sremm i 1

39 R Ygid Eﬁ qEa™ aﬁ ﬁﬂﬁ ﬁ%{fiﬁ Gl'{ﬁaﬁ ?ﬁ bI{(';_L IATET ¥ T eh
Tfaeenfud st fean g |

faeeg -
A) i gaedq B) Tt gfeem=
(C) 3T YER (D) I i

e : F=faRaa we7 Fae g wheiiE & foe v den 21 F M w R |
39 =R HAifa w1 geiia w2, e 3ev awgsti & wie] 3dred &

ﬁmﬁammﬁawﬁmﬁﬁwaﬁmw%l 1
ey

NIRERIGKSELE! B) Tt gfeeam=

(C) 3TmTa fcreerma= D) AR TER

22. freferRad hemi-31fihed (A) 9 SR (R) 1 SaHYde 1A | Fi= feu e faemedl
T B e forered o1 T AL 1
Afrpem (A) : 31 guwRl ¥ o, =W g amiiie T W At e %

TReTHEEY SEd 9T fas Hehas (HDI) T8 gT Y |

%I (R) : = 8 A fIeh® Gehden! (HDI) H HRA o Tt & M 8 |

Torereq

(A) AR (A) 7 HRUT (R) THT TF & 94T R (R), 3Thheq (A) 6 Tt =
2

(B) AR (A) T HRU (R) TFI T B, AlhT HruT (R), e (A) 6 T
ST &l LT & |

(C) TR (A) a2, b 1T (R) FHA 2 |

(D) 3TMRUA (A) 3 B, TAfeh HRUT (R) T ¢ |
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Study the following image carefully : 1

Identify, the trade practice that has successfully replaced foreign goods
with domestic production.

Options :
(A) Export Promotion (B) Export Substitution
(C) Import Proliferation (D) Import Substitution

Note: The following question is for the visually impaired
candidates only, in lieu of Q. No. 21.
refers to a trade policy aimed at reducing reliance on imported

goods by encouraging domestic production. 1
Options :

(A) Export Promotion (B) Export Substitution

(C) Import Substitution (D) Import Proliferation

Read the following statements carefully : Assertion (A) and Reason (R).

Choose the correct option from those given below : 1

Assertion (A) : Prior to economic reforms, public investment in social
infrastructure by China resulted in better Human Development
Indicators (HDI).

Reason (R) : China is ahead of India and Pakistan on many Human
Development Indicators (HDI).

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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23. UZ FCUHICT SUSTIR &, S TR o Teh A1l § QUL 1ehtl H T o SRV Ied~ Bl & |
<) 11 GRTST o YR W Efd SUs 6 FhRhl mgaH hifvw | (8 foeeg shr = =Y) 1
ﬁw:

(A) S~ ST B) wEH ST
(C) Weft st (D) ENUTTeH SUSATRT
24. = few 7u Siem-1 9 Hier-11 | feu e uei & & 9t I 1 =—E & 1
Hiem-1 Hie™-11
G) STH (a) AT Shl ST Hehel ATl ST <l FAfersha wHim
Giy It g o () IPR 1956 =i dw
(i) T ST (c) TS T el o forw vgf
(iv) T ASHT % I F (g) WM GIEehIv H AREd
9 | 3nyfehe
ﬁw:
A O-@ B) (@)~ (b)
(€) (i) - (o) D) @Gv) - ()
25. Traferiaa et o1 eamYes Te o : 1

HYA-1 : HRG =Afh i Saaeih s = e si= 8 g § |
HYA-2 : WA o T & § i Jaaeift T TS 61 Uh e Ha 2 |
few Tu e o srreties ®, fforiaa # @ ) faehe w1 == hifsw

(A) U 1T 8 TN HYF 2 TR |

(B) o 13EA 2 I HYT 2T R |

(C) HeF 132 T |

(D) %Y 13N 2SHI FHAE |
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23. “It is short-term unemployment occurring, as people transit between jobs.”
On the basis of given definition, identify the type of unemployment
indicated. (Choose the correct option) 1
Options :
(A) Disguised Unemployment
(B) Seasonal Unemployment
(C) Open Unemployment
(D) Frictional Unemployment
24. From the terms given below in Column-I and Column-II, choose the
correct pair of statements : 1
Column-I Column-II
6] Subsidies (a) Maximum quantity of goods
that can be imported
(1) Land ceiling (b) Element of IPR 1956
(111) Small Scale Industries (©) Land to the tiller
(iv) Modernisation as a goal of (d) Change in social outlook
five year plan
Options :
A @O-(@ B) (1) - (b)
©) @G- D) ) -
25. Read the following statements carefully : 1
Statement-1 : Hired workers may be regular salaried workers or casual
workers.
Statement-2 : Regular salaried employment is a major source of
employment in rural areas in India.
In the light of the given statements, choose the correct option from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
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26, SMATE AU BREE HITH g SEh AT | 1
(Tt forered gra frar Tum 6 gfd 6t 1)
farerey
A) H (B) 3f=ifies
(C) T (D) Tegor
27. Trfeiaa fom o st 1

3 Tea wreatl ot veee o = B, T el o win Skt Sgfd @ SRR B S R |
forpe

(A) 3mfes forepma (B) UATeRUiT e

(C) dehIeh! 3T (D) @Rl forepmd

e : Frafafaa we Fae gfRarfem whearfiEt % fog wr den 27 F R w R |

Team &, frfafa 3 & S o arofi foem 6 Rl § & T R | 1
Ty

(A) STl o TR-TTORITA Gl b1 STAT

(B) uitaed o foru Sfiemen S o1 Suam

(C) YRR T T UM

(D) Siferes HERE @E H1 3T
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26. sector was the primary focus of the Great Leap Forward in China. 1
(Fill up the blank with correct option)
Options :
(A) Tax (B) Industrial
(C) Financial (D) Educational

27. Study the following picture : 1

Identify and select, the recent phenomenon in which demand for resources
surpasses their supply.

Options :
(A) Economic growth (B) Environmental crisis
(C) Technological advancement (D) Cultural evolution

Note : The following question is for the visually impaired
candidates only, in lieu of Q. No. 27.

Identify, which of the following is NOT one of the strategies for
Sustainable Development. 1

Options :

(A) Use of non-conventional sources of energy
(B) Use of fossil fuel for transportation

(C) Use of traditional knowledge

(D) Use of organic compost manure
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28. (a) “forta uaEfy H TEshl MiITORIT I SEHT MR |7
IUUh S Rl 98 TIEIRIT gRT Sfiferey forg &t | 3
HAYET

(b) & &t shY ot ¥ ety el ° Frafia S it Y o gen - w8 %

HIOT hl ST e, | 3
29. TS YSht g 3Tk foehra & Hea Tae werfud o | 3
30. UTTehEdM T 379 37Tk forehd g o foTu 331U 71U fereheTceh shed! &1 9ui i | 4

31. (a) “ugrl &l H oy Tor-feregd T onTd el B % |- UeRer ke ot

afsa e g 1”
IYUH he hl A deh gRT THTTUT oht | 3
(b)  STIMNTUT &THAT <1 TRATIY L | 1

32. () WA 3Tfeqae o AT 329 & &9 § ‘IcH-Far & == & N & doh! &
Gfera auia ot | 4
Y

(b) I h foh, Tore TR o & TaT X (G'ST) TG 9 HaTati T il <hl Sgerar
1 T 1 e | 4
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28. (a) “Cooperatives have received a setback during the recent past.”
Justify the given statement with valid explanation. 3
OR
(b) Explain the reasons behind less number of regular salaried
employees in rural areas as compared to urban areas. 3
29. Trace the relationship between human capital and economic growth. 3

30. Describe the path of developmental initiatives taken by Pakistan for its

economic development. 4

31. (a)

“In the mountainous regions, mini-hydel plants prove to be cost

effective as well as eco-friendly.”

Justify above statement with valid arguments. 3
(b) Define Absorptive capacity. 1
32. (a) Describe briefly a rationale behind choosing ‘Self-reliance’ as a
planning objective for the Indian economy. 4
OR
(b) Explain how, Goods and Services Tax (GST) has simplified the
multiplicity of taxes on goods and services. 4
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33. fr=faRaad e o6 exmgdes sre Wi

HY-TETT T TTHOT IeH R | JrHior o <6 fofe fferat & Heequi B S E 19
RA H AT & 3T At TR R 1 JEET™ SR U @ | ¥ 3 3 i,
IT-3meid Tt Somett o Ser ST FHoiT o ool SUehioT S8 T eh! eI &1 8,
S IeATGERAT I HHIEH ST H ghg L @ |
IMYf RIS ! GAATEIT Hleh o TeI& SR & Hdeh TATUT hieh I FHWhI o [T
3fra e frericor gifoea ohed & qen arufes feeifort o ffan off <50 e € | v 3em
Tt & § UK goH § 90RT ®9 ¥ AREH YEH A @ | &R 9 RKVY-
RAFTAAR, $fY S7a6w 1 %19 a1 Agri-SURE 37ife fafi= spreishat % arezm & Hfy
wreardi 9 3afir o fore fiat Hifa o foxfia grar o yeeh frn 2 |
I T I T M < IR R =AfRad T o 3w e :
(a) 3oord i Toh for TohR FiY-TeréaT By & § 311 areft mufie gt 1 e

T BB | 4
(b) A H HiY W37 9 I b1 THLH ¢ § TR <hi yftrest W feooft 6 | 2

34. (a) I BN g Ieoifad i fob, Freferiaa shem ae § 31ere 3 2x3=6
() 3ffafies ®e % iatd, YA o FTh o fIEdR % HROT HY & °
qfagie
(i) Tova =R Fre w1 S fave =R # fem st sraeen wnfua FE R |
(iii) ST STEHAT & G171 e wra H e 1 wiE @& o |
37T
b) (1) JARHTH : 3
(1) S 9 TG JFEEh
) fausfa 9 sguefa =R
(i) “oTE ST D] 5 IUNT o Toreeg Teh FLETT hael shi SATTTIRAT & |7 3
ITIRE YT o 3Tlh H, 37 e T TR gRI I3 W heHl i fodr &
AR |
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33. Read the following text carefully :
Agro-startups and rural enterprises are becoming increasingly vital for
rural development in India. They address the critical challenges faced by
rural sector in India. These ventures bring in technological innovations
such as precision farming, IT-based monitoring system and data-driven
decision making tools that enhance productivity and resource efficiency.
By streamlining supply chains and creating direct market linkages, they
ensure better pricing for farmers and reduce dependency on traditional
intermediaries. Such enterprises contribute actively to employment
generation in the rural areas. The government has demonstrated a
continuous policy and financial support for agri-startups and
entrepreneurs through various programs like RKVY-RAFTAAR, the Agri-
infrastructure fund and Agri-SURE.
On the basis of given text and common understanding, answer the
following questions :
(a) Explain, how agro-startups address the critical challenges faced by

the agricultural sector. 4
(b) Comment on the role of government in supporting agro-startups and
entrepreneurs in India. 2

34. (a) Giving valid reasons, state whether the following statements are
true or false. 2x3=6
(1) There was growth in agricultural sector due to expansion of
aggregate area under cultivation, during the colonial era.
(1) The objective of World Trade Organisation (WTO) is to establish
a rule based regime, in the world trade.
(111) Economic growth with regional disparity was the main goal of
planning in India.
OR
(b) (1) Distinguish between : 3
(1) Tariff and non-tariff barriers
(2) Bilateral and multilateral trade
(1) “Small-Scale Industries require a shield against large scale
industries.” 3
In the light of given statement, elaborate the steps initiated by
the government in this direction.

58/1/2 ~ 23|Page Eﬁ,ﬂ


https://www.collegebatch.com/exams?utm_source=pdf

@ collegebatch con

58/1/2 DY ~ 24|Page B
759-2 g =


https://www.collegebatch.com/exams?utm_source=pdf



